
Example of Stage 2 DBP Compliance Determination  

LRAA Calculation for TTHM 
 
 

 

Quarterly Monitoring Results for Sample Site 

(Q1 + Q2 + Q3 + Q4) ÷ 4  

 

Date 

 

TTHM (mg/L) 

 

LRAA  

(mg/L) 

 

Violation? 
YES, if LRAA > MCL 

 

MCL for TTHM = 

0.080 mg/L 

11/14/2013 0.096 (0.096 + 0 + 0 + 0) ÷ 4 = 0.024 NO 

2/15/2014 0.072 (0.096 + 0.072 + 0 + 0) ÷ 4 = 0.042 NO 

5/12/2014 0.060 (0.096 + 0.072 + 0.060 + 0) ÷ 4 = 0.057 NO 

8/16/2014 0.088 (0.096 + 0.072 + 0.060 + 0.088) ÷ 4 = 0.079 NO 

11/12/2014 0.120 (0.072 + 0.060 + 0.088 + 0.120) ÷ 4 = 0.085 YES 

 

 


